The figures in the margin indicate full marks

Answer either in English or in Assamese

1. Fill in the blanks/Answer the following :
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is the most frequently occurring
score in a distribution.
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Mid-value of the distance between 25th
percentile and 75th percentile is known
as
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The curve that is more peaked than
normal probability curve is a
curve.
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When increase and decrease of two
variables tend to move together in the
same direction, then the correlation
between the variables is called
correlation.
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Find the combined mean of two samples
of sizes 6 and 4 respectively, whose
means are 15 and 25.
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2. Answer the following questions :

(3)

Write Karl Pearson’s formula for finding
out coefficient of correlation.
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In a normal distribution mean = 45. Find
out the value of median and mode.
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What is an ogive? How does it differ from
a cumulative frequency curve? 1+1=2
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Write two advantages of central tendency. 2
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What is meant by percentile rank?
Explain with example. 1+1=2
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(d) What is range? Mention two uses of
range as measure of variability. 1+1=2
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3. Answer any three of the following questions :

5x3=15
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What is a frequency distribution? Point
out its two uses. Explain the process of
preparing a frequency distribution table
indicating the choices of the number of
classes and width of class interval.
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Explain the skewness of a distribution on
the basis of the relationship between
mean, median and mode. Find skewness,
if Mean = 25, Median = 45 and SD (o) = 8.
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“Central tendency should be accompanied
by a measure of variability, for significant
interpretation.” Discuss the statement
with example. 5
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What is a normal probability curve?
State the distinctive features of this
curve. 5
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Mention three properties of mean as a
measure of central tendency. In a
distribution AM = 37, Zfx’ =28, N =50
and i=5. Find out mean of the
distribution. 3+2=5
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4. Explain the usability of median as a measure Or / &3l
of central tendency. Find out median from the
, : ; ? i
following distribution table : 4+608 What is histogram? Draw a histogram

and a frequency polygon on the same
CFEM e car o1 TR TeAcaIfarer @y <4 | axis from the following distribution table :
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65-69 1
60-64 1 Class Interval Frequency
i EIEaE BRI
55-59 3
50-54 4
50-54 5
45-49 2
45-49 6 2=
7 40-44 8
40-44
35-39 12 35-39 12
30-34 6 20-34 4
8
e 25-29 3
20-24 2 -
20-24
N =50
N =35
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5. What is standard deviation? Mention two Or / 9241
merits of standard deviation. Compute
standard deviation of the following Ten competitors in a essay competition are
distribution : 1+2+7=1( ranked by three judges in the following order :
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Istdudge : 1 5 4 8 9 6 10 7 3 2 |
Class Interval Frequency (ﬂ' o7 e )
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PndJudge’ . 4 8 7 6 5 9 10 3 2 i
90-94 4 (f&m fvrs) )
85-89 6 SrdJudge : 6 7 8 1 5§ 109 2 3 4
(2% o)
80-84 S
Use the rank-correlation coefficient to discuss
75-79 10 which pair of judges has nearest approach in
70-74 12 their judgement. 6+4=10
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60-64 4
95=50 8 6. What is the relationship between percentile
50-54 6 point and percentile ranlk? Calculate T1925 and
P,c from the distribution below. Find out
N =60 quartile deviation from these values :
2+3+3+2=10
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80-89 4
70-79 2
60-69 4
50-59 11
40-49 12
30-39 6
20-29 8
10-19 3
N =50
Or / F=[1
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(a and b both)

(a =< b 7E01)

(@) A set of examination marks is normally
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distributed with a mean of 75 and
standard deviation of 15. If top 10%
students get grade A and bottom 25% get
grade F, then what mark is the lowest A
and what mark is the highest F.
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A student secures 72 marks in an
examination in sociology for which his
class mean is 54 and standard deviation
is 20. He secures 76 marks in statistics
for which his class mean is 50 and
standard deviation is 12. What can W€
say about the performance of the
student with reference to these tWO
examinations?
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2+2+1=5




